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_ AES _
= 2 BIER BIEZAT | HEOIKEE
Tm 50cm 5cm
1 EBRFE—/NER 58138 0.04 0.04 004 | F59UF +
2 BB T EINER 58138 0.05 0.05 005 | 4J3TIUF *
I HBTFEZIFER 58158 0.05 0.05 006 | JI9F +
4 BRBRFEONER 5898 0.04 0.04 004 | JTIUF *
5| AL /R 58108 0.04 0.04 004 | F59UF +
6| ik /NFRR 58128 0.03 0.04 004 | JTIUK *
7 AL E TN 5814H 0.03 0.03 003 | FIIUF +
8| = EFIL/MERR 58138 0.04 0.04 004 | JIIUF *
9| BF/NER 5816H 0.06 0.05 006 | J359F +
10|t B /M ERR 58158 0.05 0.05 004 | JIIUF *
T FARNERR 5813H 0.06 0.06 006 | JIIUF +
12 |3 ARNEAR 58108 0.06 0.06 006 | 4TI +
13|tk /NERR 5810H 0.06 0.06 006 | FJIIUK +
1 EBRFHER 58158 0.04 0.04 004 | JIIUF *
2|t AR 5A8H 0.08 0.08 008 | 4IIUK +
,.EE 3| FafE R 5813H 0.07 0.07 007 | JTIUF *
; 4 E PEER 5810H 0.06 0.06 007 | FI9UF +
5 AFRPER 58158 0.04 0.04 004 | JIIUF *
6 B LA 58108 0.05 0.05 005 | 4J359F +
Rl | RENFEREE 5A178 0.12 0.13 0.14 | Ehehk | FRI7ILE
=7 BB T E 581768 0.05 0.05 005 Buchk +
E B ERTFESNFEREE 5178 0.10 0.13 014 |  AOd®R | AALLUH
i) 112XLEREER 58168 0.05 0.06 0.06 ERESDR +
AL 2 HREE 55148 0.04 0.04 005 | [EREHR +
1:;: 3L ERER 58168 0.05 0.05 0.06 EREH R +
4| <<% 58138 0.04 0.04 0.05 EES *
~F 5 CEbRERS— 6H6H 0.05 0.04 0.05 ik -2
1HLRER 5813H 0.04 0.04 0.04 EREHR *
2 MEEREE 5H208 0.06 0.06 0.06 ERESDR +
IEEREE 58168 0.10 0.11 0.10 EREHR ALZ
4 EBHREE 6A188 0.05 0.05 0.05 ERESDR +
5 WEREE 68208 0.04 0.04 0.05 EREHR *
6 fABREE 58158 0.04 0.04 0.04 ERESDR +
fl_\ 1 REENERER 6A18H 0.04 0.04 004 | EEHR t
é 8 IREERFAENREEE 58178 0.04 003 004 EEHR +
= 97T RER 58158 0.04 0.04 0.05 EREHRR x
10 DIEHHRBER 68208 0.05 0.06 0.05 BEREFR +
1|BRMREE 58168 0.07 0.07 0.06 EREHR i
12|[EF2ESVFHBUVIBREE 58168 0.04 0.03 0.03 BEREFR ALZ
1BREEKHER 68198 0.04 0.04 0.05 EREHR AT
14/ BEHLEYREE 58178 0.06 0.06 0.06 EREHR +
15| RHpUVRERER 58168 0.03 0.03 0.03 EREHRR x
16 iRFREE 58228 0.03 0.03 0.03 EEDR +
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2 BIEB BIEZAT | HEOIKEE
Tm 50cm 5cm
DIFZHHE-OIXZDHEER 6H208 0.09 0.10 0.11 EREHR +
UHhUHHE 58158 0.06 0.07 0.07 BEEHR =
EENHE 58138 0.04 0.04 0.05 EREHR +
WAL B SHE 68190 0.05 0.05 0.05 EREH R +
o BlA=TE Pk ] 5H22H 0.05 0.05 0.05 EREHR +
b E 5823H 0.04 0.04 0.04 ERES R x
ZIEESFHE 58168 0.03 0.04 0.05 EESRR *
I—TILHH#E 5817H 0.04 0.04 0.03 ERESR x
AXLDHFHE 5A158 0.04 0.04 0.04 EESRR *
HEEYHE 5813H 0.04 0.04 0.04 ERESR x
EREBRE (AEYDIRE) 5H24H 0.06 0.08 0.07 thk Y-
BRFHAOEEFKG 5824H 0.05 0.05 0.05 | ABHHUER—RfHiEE +
EEATD FE RIS 5H24H 0.06 0.07 0.06 S} g Y-
PARE DO FEHBkiE 58248 0.04 0.04 0.04 |tHhRA—R{Fif +
AnHLFro T 5H24H 0.07 0.09 0.09 g Y-
(R AL SR EF ek i5 58248 0.04 0.04 0.05 |tHhURA—R{Fif +
MIET 2 BHERLE (R5) 5H24H 0.07 0.07 0.08 thk Y-
mREEE (ki) 58248 0.06 0.07 0.05 |tEHhURA—R{Fif +
FIRINPSHSAE (Hyh—1i5) 5H24H 0.06 0.06 0.07 th Y- 2
LA R RNE (FFEk i) 58248 0.05 0.05 0.04 |EHhURA—R{Fif +
FEALBE(FT=Xa—"h) 5H24H 0.07 0.08 0.08 ALt +
KLE S BERILIE (ZEDLRS) 58248 0.1 0.1 0.12 hk B.5
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